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1. The most effective method of

learning in cooperative groups

emphasizes :

(A) group goals and group

responsibility

(B) group goals and individual

responsibility

(C) group responsibility and

individual goals

(D) individual goals and individual

responsibility

2. Von Restorff effect is seen :

(1) in serial learning

(2) in paired associate learning

(3) in free recall

(A) (1) and (3)

(B) (1) and (2)

(C) (1), (2) and (3)

(D) (2) and (3)

1. lgdkjh xVkrhy v/;;ukph lok Zr

ifj.kkedkjd iºrh ;koj Hkj nsrs %

(A) xVkph mÌh"VÓs o xVkph tckcnkjh

(B) xVkph mÌh"VÓs o O;fDrph tckcnkjh

(C) xVkph tckcnkjh o O;fDrph mÌh"VÓs

(D) O;fDrph mÌh"VÓs o O;fDrph tckcnkjh

2. OgkWu jsLVkWQZ ifj.kke [kkyhy izdkjkr fnlrks %

(1) ÿfed v/;;ukr

(2) ;qXe lkgp;Z v/;;ukr

(3) eqDr izR;kokgukr

(A) (1) vkf.k (3)

(B) (1) vkf.k (2)

(C) (1), (2) vkf.k (3)

(D) (2) vkf.k (3)

Psychology
Paper III

ekul'kkL=
iz'uif=dk III
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1

2
2

 Hours] [Maximum Marks : 150

Note : (i) This question paper has Seventy five (75) multiple choice questions.

Each question carries Two (2) marks.

(ii) Attempt All questions.

lwpuk % (i) ;k iz'uif=dsr ,dw.k ipgŸkj (75) cgqi;kZ;h iz'u vkgsr- izR;sd iz'ukyk nksu (2)

xq.k vkgsr-
(ii) loZ iz'ukaph mŸkjs fygk-
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3. Match List I and List II and select

the correct answer by using the

codes given below :

   List I  List II

     (Term in factor (Example/Brief

Analysis) Explanation)

(P) Factor Extraction (1) Correlations among

method oblique factors

(Q) Factor rotation (2) Method to decide

method number of factors

   for rotation

(R) Cattell’s scree (3) Principal axes

(S) Interfactor

correlation matrix (4) Promax

(5) Correlations among

varimax-rotated

    factors

Codes :

(P) (Q) (R) (S)

(A) (3) (4) (1) (2)

(B) (4) (3) (2) (1)

(C) (3) (4) (2) (1)

(D) (3) (4) (2) (5)

3. ;knh I o ;knh II ;kaP;k tksMÓk ykowu [kkyh

fnysY;k ladsrlwph e/kwu ;ksX; mŸkj fuoMk %

    ;knh I    ;knh II

(?kVd fo'ys"k.kkrhy (mnkgj.k@laf{kIr o.kZu)

laKk)

(P) ?kVd fu"d"kZ.k iºrh (1) fr;Zd ?kVdkae/khy

lglaca/k

(Q) ?kVd pÿkorZu iºrh (2) pÿ k o r Z u k l k B h

?kVdk aph l a[;k

Bjfo.;kph iºrh

(R) dWVsyph Lÿh (3) fizfUliy vWDlsl

(S) vkarj?kVd lglaca/k (4) izkseWDl

lkj.kh (5) OgWjheWDl iºrhus

pÿkofrZr ?kVdka&

e/khy lglaca/k

ladsrlwph :

(P) (Q) (R) (S)

(A) (3) (4) (1) (2)

(B) (4) (3) (2) (1)

(C) (3) (4) (2) (1)

(D) (3) (4) (2) (5)
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4. The tests of convergent ability :

(1) generally require normative

data for scoring and

interpretation

(2) will show negative correlation

with divergent ability tests

(3) have specific answer/s

(4) will rarely attain scorer

reliability of 1

(A) (3) only

(B) (1) and (3) only

(C) (2) and (3) only

(D) (2), (3) and (4) only

5. To understand loss and recovery of

Indian self-influenced by

colonialism, Ashish Nandy :

(1) argues that age and sex

influenced self-construction in

British India

(2) uses argument of existentialism

to explain influence of ideology

(3) uses psychoanalysis to

understand influence of age and

sex

(4) uses social learning argument

to understand impact of

colonialism

(A) (1) only

(B) (1) and (2) only

(C) (1) and (3) only

(D) (2) and (4) only

4. lay{kh fopkj pkp.kh %

(1) lkekU;r% xq.kkadu o vFkZfooj.kklkBh
ekudkuqlkjh iznŸkkph vko';drk vlrs

(2) cgwy{kh fopkjkP;k pkp.;ka'kh Ω.kkRed
lglaca/k n'kZfors

(3) fof'k"V mŸkjs vlrkr

(4) xq.kkadd fo'oklfu;rk gh Dofprp 1

vlw 'kdrs

(A) (3) QDr

(B) (1) vkf.k (3) QDr

(C) (2) vkf.k (3) QDr

(D) (2), (3) vkf.k (4) QDr

5. olkgroknkeqˇs Hkkjrh; Lo&xeko.ks vkf.k
iqu%izkIrh ;kP;k vkdyuklkBh vkf'k"k uanh %

(1) fczVh'kdkyhu Hkkjrkr fyax vkf.k o;
;kpk izHkko Lo&lajpusoj iMyk vls
ekurkr

(2) fopkj/kkj sP;k izHkkokps Li"Vhdj.k
vfLrRokoknkP;k lkgk∏;kus djrkr

(3) fyax vkf.k o; ;kpk izHkko let.;klkBh
euksfo'ys"k.kkpk okij djrkr

(4) olkgroknkpk izHkko let.;klkBh
lkekftd v/;;u ;qfDroknkpk okij
djrkr

(A) (1) QDr

(B) (1) vkf.k (2) QDr

(C) (1) vkf.k (3) QDr

(D) (2) vkf.k (4) QDr

http://www.studentbounty.com/
http://studentbounty.com/


4

FEB–13313/III

6. The relationship between

hypothalamus and the secretion of

epinephrine and norepinephrine

during emotional arousal is

mediated by :

(A) Sympathetic nervous system

(B) Parasympathetic nervous

system

(C) Somatic nervous system

(D) Adrenocorticotropic hormone

7. Give correct order from the largest

to the smallest amount of

information that enters into various

memory systems :

(A) Sensory memory, short-term

memory, long-term memory

(B) Long-term memory, sensory

memory, short term memory

(C) Long-term memory, short-term

memory, sensory memory

(D) Short-term memory, long-term

memory, sensory memory

6. v/k'psrk{ksid vkf.k Hkkofud tkxj.kkr

,fiusf›u o ukj,fius›hups Úo.k ;kae/khy

laca/k d'kk}kjs gksrks \

(A) vuqdaik psrklaLFkk

(B) ijkuqdaih psrklaLFkk

(C) dkf;d psrklaLFkk

(D) vWfM™uksdkWfVZdksV™kfid gkWeksZu

7. Le`rhP;k fofo/k jpukae/;s Áos'k dj.kkÚ;k

ekfgrhpk lokZf/kd rs vR;Yi vlk ;ksX; ÿe

|k %

(A) osnfud Le`rh] vYidkfyd Le`rh]

nh?kZdkyhu Le`rh

(B) nh?k Zdkyhu Le`rh] osnfud Le`rh]

vYidkfyd Le`rh

(C) nh?kZdkyhu Le`rh] vYidkfyd Le`rh]

osnfud Le`rh

(D) vYidkfyd Le`rh] nh?kZdkyhu Le`rh]

osnfud Le`rh

http://www.studentbounty.com/
http://studentbounty.com/


5 [P.T.O.

FEB–13313/III

8. Match List I with List II and select

the correct answer by using the

codes given below :

   List I  List II

  (Glands) (Function)

(P) Pituitary gland (1) Brain growth

(Q) Hypothalamus (2) Sexual maturity

(R) Thyroid (3) Regulation of

pituitary gland

(S) Estrogens/ (4) Physical growth

Androgens

Codes :

(P) (Q) (R) (S)

(A) (4) (3) (1) (2)

(B) (2) (1) (4) (3)

(C) (1) (2) (3) (4)

(D) (4) (1) (2) (3)

9. The theory which suggests that

leaders adopt a style of leadership

that best fits the need of their group

is :

(A) Normative theory

(B) Goal setting theory

(C) Equity theory

(D) Transformational leadership

theory

8. ;knh I  o ;knh II e/khy ;ksX; tksMÓk ykowu

[kkyh fnysY;k ladsrlwph e/kwu ;ksX; mŸkj

fuoMk %

  ;knh I ;knh II

  (xzaFkh)             (dk;Z)

(P) ih;wf"kdk xzaFkh (1) esanwpk fodkl

(Q) v/k'psrk{ksid (2) ySafxd ijhiDork

(R) voVqxzaFkh (3) ih;wf"kdk xzaFkhps

fu;eu

(S) ,LV™kstsu@vWUM™kstsu (4) 'kkjhfjd fodkl

ladsrlwph %

(P) (Q) (R) (S)

(A) (4) (3) (1) (2)

(B) (2) (1) (4) (3)

(C) (1) (2) (3) (4)

(D) (4) (1) (2) (3)

9. usrs vkiY;k lewgkP;k xjtsuq:i usr`Ro'kSyh

Lohdkjrkr vls lqpfo.kkjh miiŸkh dks.krh\

(A) ukesZfVOg Fksvjh

(B) lk/;&fuf'prh miiŸkh

(C) bfDoVh Fksvjh

(D) V™kUlQkWesZ'kuy fyMjf'ki Fksvjh
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10. In a psychological clinic a child, with

an IQ of 64, was diagnosed to be a

case of mild mental retardation. On

DSM IV/IV (TR), this diagnosis

would be recorded on :

(A) Axis I

(B) Axis II

(C) Axis IV

(D) Axis V

11. Which one of the following is

considered to be a culture-fair test

of intelligence ?

(A) Stanford-Binet

(B) Wechsler Adult intelligence

scale

(C) Army Alpha test

(D) Raven’s Progressive Matrices

test

12. Which of the following tools provide/s

comprehensive assessment of human

psychological needs ?

(1) Edwards Personal Preference

Schedule

(2) Rotter Incomplete Sentence

Blank

(3) Thematic Apperception Test

(4) Word Association Test

(A) (3) only

(B) (1)  and (3) only

(C) (3) and (4) only

(D) (2), (3) and (4) only

10. ,dk ekul'kkL=h; fpfdRlky;kr] 64

cqfºxq.kkad vlysY;k ,dk eqykps funku lkSE;
efreanrk vls dj.;kr vkys- DSM IV/IV
(TR) e/;s gs funku dks.kR;k v{kkoj nk[koys
tkbZy \

(A) v{k I

(B) v{k II

(C) v{k IV

(D) v{k V

11. iq<hyiSdh dks.krh laLœrh funksZ"k (culture-

fair) cqfºeŸkk pkp.kh let.;kr ;srs \

(A) LVWuQMZ&fcus

(B) os'yj vWMYV baVsfytUl Ldsy

(C) vkehZ vYQk pkp.kh

(D) jsOgUl izksxzsflo eWV™k;lsl pkp.kh

12. iq<hyiSdh dks.kR;k pkp.kh}kjs ekuoh ekufld

xjtkaps cgqO;kid ewY;kadu gksrs \

(1) ,MoMZ~l ilZuy iszQjUl lsM~;qy

(2) jkWVj budaIyhV lsaVsUl Cy°d

(3) fFkeWfVd vWijlsI'ku VsLV

(4) oMZ vlksf'k;s'ku VsLV

(A) (3) QDr

(B) (1) vkf.k (3) QDr

(C) (3) vkf.k (4) QDr

(D) (2), (3) vkf.k (4) QDr
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13. Which one of the following

statements is true ?

(A) Semantic memories are more

durable than episodic memories

(B) Episodic memories are more

durable than semantic

memories

(C) Both semantic and episodic

memories are equally durable

(D) Durability of semantic

memories depend upon

durability of episodic memories

14. Which one of the following is

incorrect about schemas in social

cognition ?

(A) People tend to use role schemas

over trait schemas

(B) People use superordinate

schemas more often than

subtype schemas

(C) Schemas inconsistent with our

current feelings are less likely

to be used

(D) Schemas can be influenced by

primacy by presenting

information earlier

13. [kkyhyiSdh dks.krs fo/kku lR; vkgs \

(A) ?kVuk Le`rhis{kk vFkZij Le`rh vf/kd

fVdk≈ vlrs

(B) vFkZij Le`rhis{kk ?kVuk Le`rh vf/kd

fVdk≈ vlrs

(C) vFkZij Le`rh vkf.k ?kVuk Le`rh nksUgh

lkj[;kp fVdk≈ vlrkr

(D) vFkZij Lèrhpk fVdk≈i.kk ?kVuk LèrhP;k

fVdk≈i.kkoj voyacwu vlrks

14. lkekftd cks/kkukrhy vkœfrca/kkckcr

[kkyhyiSdh dks.krs pqdhps vkgs \

(A) yk sd x q.ko S f'k"VÓ&vkœfrc a/k

okij.;kis{kk Hkwfedk&vkœfrca/k okijrkr

(B) yk sd i z/ k ku;k sxh&vkœfrc a/k gk

miizdkj&vkœfrca/kkis{kk tkLr osˇk

okijrkr

(C) vkiY;k l/;kP;k Hkkouk'kh folaxr

vkœfrca/k okij.;kph 'kD;rk deh vlrs

(D) ekfgrh vk/kh lnj dsY;kus izkFkE;rk

vkœfrca/kkyk izHkkfor djrs
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15. Select the correct sequence according

to Neisser’s cyclical theory :

(A) Sensory cues, person’s

expectations, model of probable

object, mental representation

(B) Sensory cues, model of probable

object, person’s expectations,

mental representation

(C) Sensory cues, mental

representation, person’s

expectations, model of probable

object

(D) Sensory cues, model of probable

object, person’s expectations,

mental representation

16. When asked to explain the proverb

‘People in glass houses should not

throw stone’ a schizophrenic patient

replied, “That is easy, you can break

the glass”. This indicates that

the patient had problems related

to :

(A) Perception

(B) Orientation

(C) Abstract thought

(D) Flight of ideas

15. fulj ;kaP;k pÿh; flºkUrkuqlkj ;ksX; ÿe
fuoMk %

(A) osnfud lwpd] O;fDrP;k vis{kk] laHkkO;

oLrwps izk:i] ekufld izfr:i.k

(B) osnfud lwpd] l aHk kO; oLr wp s

izk:i] O;fDrP;k vis{kk] ekufld

izfr:i.k

(C) osnfud lwpd] ekufld izfr:i.k]

O;fDrP;k vis{kk] laHkkO; oLrwps

izk:i

(D) osnfud lwpd] l aHk kO; oLr wp s

izk:i] O;fDrP;k vis{kk] ekufld

izfr:i.k

16. ^dkpsP;k ?kjkr jkg.kkÚ;kauh brjkaoj nxM Qsdw

u;sr* ;k Eg.khps Li"Vhdj.k fopkjys vlrk

,dk fNUueuLdrk vlysY;k #X.kkus mŸkj fnys]

^^gs lksis vkgs] rqEgh dkp QksMw 'kdrk**-

;keq š dˇrs dh #X.kkyk ;kP;k'kh laca/khr

leL;k vkgs %

(A) laosnu

(B) fLFkrhHkku

(C) vewrZ fopkj

(D) vlacn~/k fopkjHkze.k
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17. Newborns are capable of :

(1) categorical speech perception

(2) being sensitive to phonemes

(3) babbling

(4) cooing

(A) (1), (2) and (4)

(B) (2), (3) and (4)

(C) (1) and (2)

(D) (1) and (4)

18. Interference affects :

(A) Sensory memory and short-term

memory

(B) Short-term memory and long-

term memory

(C) Sensory and long-term memory

(D) Sensory, short-term and long-

term memory

19. The kinesthetic learner or

perceiver :

(1) learns by doing

(2) is a good listener

(3) taps fingers for concentration

(4) moves during lessons

(A) (1), (2), (3)

(B) (1), (3), (4)

(C) (2), (3) (4)

(D) (1), (2), (4)

17. uotkr f'k'kq ;klanHkkZr l{ke vlrkr %

(1) cksy.;kps izoxhZdj.kkRed laosnu

(2) Lofuefo"k;d laosnu{ke

(3) cWcyhax

(4) dwb±x

(A) (1), (2) vkf.k (4)

(B) (2), (3) vkf.k (4)

(C) (1) vkf.k (2)

(D) (1) vkf.k (4)

18. O;R;;kpk ifj.kke ;koj gksrks %

(A) osnfud Le`rh vkf.k vYidkyhu Le`rh

(B) vYidkyhu Lèrh vkf.k nh?kZdkyhu Lèrh

(C) osnfud vkf.k nh?kZdkyhu Le`rh

(D) osnfud] vYidkyhu vkf.k nh?kZdkyhu

Lèrh

19. xfrosnu v/;;udrkZ •dok laosnudrkZ %

(1) œrh d:u f'kdrks

(2) pkaxyk Jksrk vlrks

(3) ,dkxzrslkBh cksVs vkiVrks

(4) /kMs f'kdrkauk gkypky djrks

(A) (1), (2), (3)

(B) (1), (3), (4)

(C) (2), (3) (4)

(D) (1), (2), (4)
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20. jksyks es vuqlkj oSdkfld voLFkkapk ;ksX; ÿe

dks.krk \

(A) lkekU;] fujkxl] caM[kksj] ltZd

(B) fujkxl] lkekU;] caM[kksj] ltZd

(C) fujkxl] caM[kksj] lkekU;] ltZd

(D) fujkxl] caM[kksj] ltZd] lkekU;

21. dkykuqÿekuqlkj esanwP;k fodklkpk ;ksX; ÿe

dks.krk \

(1) psrklaf/krhy tksMkP;k psrk rarwapk fodkl

(2) psrklaf/k izqfuax vkf.k vk/kkj is'khapk

fodkl

(3) esanw xksyk/kkZrhy LFkkfudhdj.kkpk fodkl

(4) izefLr"d ck·dkP;k HkkxkaP;k fodkl

(A) (1), (2), (3), (4)

(B) (1), (2), (4), (3)

(C) (3), (4), (2), (1)

(D) (4), (3), (1), (2)

20. Which is a correct sequence of stages

of development according to Rollo

May ?

(A) Ordinary, Innocence, Rebellion

and Creative

(B) Innocence, Ordinary, Rebellion

and Creative

(C) Innocence, Rebellion, Ordinary

and Creative

(D) Innocence, Rebellion, Creative

and Ordinary

21. Which is the correct chronological

order of brain development ?

(1) Development of neural fibers

from synaptic connection

(2) Synaptic pruning and

multiplication of glial cells

(3) Development of lateralization

(4) Development of regions of

cerebral cortex

(A) (1), (2), (3), (4)

(B) (1), (2), (4), (3)

(C) (3), (4), (2), (1)

(D) (4), (3), (1), (2)
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22. Cognitive maps become organized

and accurate during :

(A) Early childhood

(B) Middle childhood

(C) Adolescence

(D) Young adulthood

23. Which of the following is/are not

factor analytic/structural models of

intelligence ?

(1) Guilford’s model

(2) Hunt’s lexical access model

(3) Spearman’s G model

(4) Triarchich model

(A) (2) only

(B) (2) and (4) only

(C) (1)  and (4) only

(D) (2), (3) and (4) only

24. Most common chromosomal

abnormality causing mental

retardation is :

(A) Trisomy XXX

(B) Trisomy XXY

(C) Trisomy 11

(D) Trisomy 21

22. cks/kkRed udk'ks ;k dky[kaMkr la?kVhr vkf.k

vpwd curkr %

(A) iwoZ ckY;koLFkk

(B) e/; ckY;koLFkk

(C) dqekjkoLFkk

(D) iwoZ izkS<koLFkk

23. [kkyhyiSdh dks.krs@dks.krh cqn~/kheŸksps@

cqn~/kheŸksph ?kVd fo'ys"k.kkRed izk:i@izk:is

ukghr \

(1) fxyQksMZps izk:i

(2) gaVps ysDlhdy vWDlsl izk:i

(3) Lihvjeups th izk:i

(4) V™k;kfdZd izk:i

(A) (2) QDr

(B) (2) vkf.k (4) QDr

(C) (1)  vkf.k (4) QDr

(D) (2), (3) vkf.k (4) QDr

24. efreanRokps dkj.k vlsysyh lokZr lkekU;

xq.klw= vilkekU;rk %

(A) V™k;>kseh XXX

(B) V™k;>kseh XXY

(C) V™k;>kseh 11

(D) V™k;>kseh 21
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25. The relationship between task

difficulty and motivation is :

(A) Linearly increasing

(B) Linearly decreasing

(C) U-shaped

(D) Inverted U-shaped

26. Match List I with List II and select
the correct answer by using the
codes given below :

    List I  List II

(P) Frontal lobes (1) Classical condi-

tioning

(Q) Prefrontal cortex (2) Encoding of words

(R) Hippocampus (3) Short-term memory

(S) Cerebellum (4) Formation of decla-

rative memories

Codes :

(P) (Q) (R) (S)

(A) (3) (2) (4) (1)

(B) (2) (1) (3) (4)

(C) (4) (3) (1) (2)

(D) (1) (4) (2) (3)

27. Which of the following clinical
procedure/s is/are not based on
classical conditioning ?

(1) Token economy

(2) Flooding

(3) Systematic desensitization

(4) Transference

(A) (4) only

(B) (1) and (2) only

(C) (1) and (4) only

(D) (2), (3) and (4) only

25. dk;ZdkBh.; vkf.k iz sj.kspk laca/k vlk
vlrks %
(A) ok<r tk.kkjk js[kh;
(B) deh gksr tk.kkjk js[kh;
(C) U-vkdkjkpk

(D) ≈yVÓk U-vkdkjkpk

26. ;knh I o ;knh II e/khy ;ksX; tksMÓk ykowu
[kkyh fnysY;k ladsrlwph e/kwu ;ksX; mŸkj
fuoMk %
  ;knh I  ;knh II

(P) vxz[kaM (1) vfHktkr vfHkla/kku

(Q) iwoZyykVh ckgÓd (2) 'kCnkaps ladsru

(R) v'oehu (3) vYidkyhu Le`rh

(S) vuqefLr"d (4) fMDysjsVhOg Le`rhps
fuekZ.k

ladsrlwph %
(P) (Q) (R) (S)

(A) (3) (2) (4) (1)

(B) (2) (1) (3) (4)

(C) (4) (3) (1) (2)

(D) (1) (4) (2) (3)

27. [kkyhyiSdh dks.krh@dks.kR;k fpfdRlk
in~/kr@in~/krh gh@gÓk vfHktkr vfHkla/kkukoj
vk/kkfjr ukgh \

(1) izfrdkRed ikfjrksf"kd izfÿ;k

(2) fparkizy;u

(3) in~/kr'khj vkosnu'khyu

(4) Hkkokarj.k

(A) (4) QDr

(B) (1) vkf.k (2) QDr

(C) (1) vkf.k (4) QDr

(D) (2), (3) vkf.k (4) QDr
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28. At birth these sensitivities are well

developed :

(1) touch

(2) taste

(3) vision

(4) pain

(A) (1), (2) and (3)

(B) (2), (3) and (4)

(C) (1) and (2)

(D) (1), (2) and (4)

29. Which of the following conception

of language proposes distinction

between surface and deep

structures ?

(A) Phase structure grammar

(B) Finite state grammar

(C) Transformational grammar

(D) Functional discourse grammar

30. In eye-witness memory, recall

depends upon :

(1) age

(2) gender

(3) stress

(4) culture

(A) (1), (2), (3)

(B) (2), (3), (4)

(C) (1), (3), (4)

(D) (1), (2), (4)

28. tUele;h ;k laosnu{kerk pkaxY;k izdkjs
fodkl ikoysY;k vlrkr %

(1) Li'kZ

(2) po

(3) n`"Vh

(4) osnuk

(A) (1), (2) vkf.k (3)

(B) (2), (3) vkf.k (4)

(C) (1) vkf.k (2)

(D) (1), (2) vkf.k (4)

29. Hkk"ksP;k lanHkkZrhy [kkyhyiSdh dks.krh
ladYiuk i`"B lajpuk o xgu lajpuk ;kr
Qjd djrs \

(A) Qst LV™Dpj O;kdj.k

(B) QkbukbV LVsV O;kdj.k

(C) V™kUlQkWesZ'kuy O;kdj.k

(D) QaD'kuy fMLdkslZ O;kdj.k

30. izR;{kn'khZ Le`rhe/;s izR;kogu ;koj voyacwu
vlrs %

(1) o;

(2) fyax

(3) rk.k

(4) laLœrh

(A) (1), (2), (3)

(B) (2), (3), (4)

(C) (1), (3), (4)

(D) (1), (2), (4)
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31. d' or the separation of distributions

for ‘noise’ and ‘signal plus noise’

conditions in signal detection

theory :

(A) does not change even when the

subject alters criterion from

strict to lax judgement

(B) Changes when the subject

alters criterion from strict to lax

judgement

(C) Changes only when the subject

alters criterion from lax to strict

criterion

(D) does not change only when

the intensity of the signal is

low

32. If the following variables are placed

in descending order with reference

to their correlation with general

intelligence, then the correct

sequence is :

(A) Fluid ability, numerical ability,

creativity, openness to

experience

(B) Numerical ability, fluid ability,

openness to experience,

creativity

(C) Numerical ability, creativity,

fluid ability, openness to

experience

(D) Fluid ability, creativity,

numerical ability, openness to

experience

31. ^/ofu* vkf.k ^ladsrklg /ofu* ;kaP;k
forj.kkrhy varj fdaok d' gs flXuy fMVsD'ku
flºkUrkr %

(A) tjh iz;qDrkus dMd fud"kkiklwu f'kfFky
fud"kkdMs fu.kZ;u cnyys rjh cnyr
ukgh

(B) iz;qDrkus dMd fud"kkiklwu f'kfFky
fud"kkdMs fu.k Z;u cnyys rj
cnyrs

(C) iz;qDrkus f'kfFky fud"kkiklwu dMd
fud"kkdMs fu.k Z;u cnyys rjp
cnyrs

(D) QDr tsaOgk ladsrkph rhozrk deh vlrs
rsaOgk cnyr ukgh

32. tj [kkyhy ifjorZds R;k aP;k lkekU;
cqn/kheŸk s'kh vlysY;k lglac a/kku qlkj

mrjR;k ÿekus ykoyh] rj ;ksX; ÿe gk

vlsy %

(A) rjy {kerk] l a[;kRed {kerk]

ltZu'khyrk] vuqHkokpk [kqysi.kk

(B) la[;kRed {kerk] rjy {kerk] vuqHkokpk

[kqysi.kk] ltZu'khyrk

(C) la[;kRed {kerk] ltZu'khyrk] rjy

{kerk] vuqHkokpk [kqysi.kk

(D) rjy {kerk] ltZu'khyrk] la[;kRed

{kerk] vuqHkokpk [kqysi.kk
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33. Which of the following is/are correct

in case of set point theories of

hunger ?

(1) Glucostatic set point theories

argues that drop in blood

glucose is responsible for

hunger.

(2) Lipostatis set point theories

argue that reduction in body fat

signals satiety

(3) Set point theories cannot

explain evolutionary problems

of scarcity of food and large

intakes

(4) These theories take into account

factors like taste, learning and

social factors

(A) (1) only

(B) (1) and (2) only

(C) (1) and (3) only

(D) (1), (2) and (4) only

33. HkqdsP;k lsV ikWb±V fln~/kkarkuqlkj [kkyhyiSdh

dks.krs cjkscj vkgs@vkgsr \

(1) XywdksLVWVhd lsV ikWb±V fln~/kkarkuqlkj

jDrkrhy 'kdZjsph ?kV gh HkqdslkBh

dkj.khHkwr vlrs

(2) fyiksLVWVhd lsV ikWb±V fln~/kkarkuqlkj

'kkjhjesnkrhy ?kV r`Irhps ladsru vkgs

(3) vUukph nqfeŽ rk o eksBÓkizek.kkoj [kk.ks

;k mRÿkarhrhy leL;k lsV ikWb ±V

flºkar Li"V djr ukghr

(4) po] v/;;u] lkekftd ?kVd ;klkj[ks

?kVd ;k fln~/kkarkae/;s lkekoys vkgsr

(A) (1) QDr

(B) (1) vkf.k (2)  QDr

(C) (1) vkf.k (3)  QDr

(D) (1), (2) vkf.k (4)  QDr
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34. Match List I with List II and select

the correct answer by using the

codes given below :

  List I       List II

(Symptom)   (Disorder)

(P) Cataplexy (1) Agoraphobia

(Q) Excessive fear (2) Mania

of crowd or

market place

(R) Rapid speech (3) Narcolepsy

and flight of

ideas (4) Claustrophobia

(S) Waxy flexibility (5) Schizophrenia

Codes :

(P) (Q) (R) (S)

(A) (1) (4) (5) (2)

(B) (3) (1) (2) (5)

(C) (3) (4) (2) (5)

(D) (5) (4) (2) (3)

35. In Piaget’s theory, sensori-motor

stage includes :

(1) circular reaction

(2) goal directed behaviour

(3) deferred imitation

(4) animistic thinking

(A) (1), (2) and (3)

(B) (1), (3) and (4)

(C) (2), (3) and (4)

(D) (1) and (4)

34. ;knh I o ;knh II ;kaP;k tksMÓk ykowu [kkyh
fnysY;k ladsrlwph e/kwu ;ksX; mŸkj fuoMk %

 ;knh I     ;knh II

 (y{k.ks) (foœrh)

(P) dWVWIysDlh (1) foo`r LFky Hk;xaM

(Q) xnhZ fdaok cktkjisBkaph (2) mUekn

vR;afrd fHkrh

(R) osxkus cksy.ks o

vlacn~/k fopkjHkze.k (3) vfrfuÊklfDr

(4) lao`r LFky Hk;xaM

(S) es.kh oyu'khyrk (5) fNUueuLdrk

ladsrlwph  %

(P) (Q) (R) (S)

(A) (1) (4) (5) (2)

(B) (3) (1) (2) (5)

(C) (3) (4) (2) (5)

(D) (5) (4) (2) (3)

35. fi;ktsP;k flºkUrkrhy osnfud&dkjd
VII;ke/;s ;kapk lekos'k gksrks %

(1) orqŽ kdkj izfrfÿ;k

(2) /;s;kdMs us.kkjs orZu

(3) foyafcr vuqdj.k

(4) loZthooknh fopkj

(A) (1), (2) vkf.k (3)

(B) (1), (3) vkf.k (4)

(C) (2), (3) vkf.k (4)

(D) (1) vkf.k (4)
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36. Which of the following is not an

example of representativeness

heuristics ?

(A) Insensitivity to prior

probabilities

(B) Insensitivity to sample size

(C) Misconception of chance

(D) Effectiveness of search set

37. Which of the following is/are semi-

projective measure/s ?

(1) Rosenzweig Picture-Frustration

Study

(2) Rorschach Ink Blot Test

(3) Thematic Apperception Test

(4) Sack’s Sentence Completion

Test

(A) (1) and (4)

(B) (1) and (3)

(C) (1), (2) and (4)

(D) (1), (3) and (4)

38. Which endocrine gland links the

nervous system to the endocrine

system via hypothalamus ?

(A) Thyroid gland

(B) Adrenal gland

(C) Pineal gland

(D) Pituitary gland

36. [kkyhyiSdh dks.krs izkfrfuf/kdrk uoxkehps

mnkgj.k ukgh \

(A) iwoZ&laHkkO;rsckcr vlaosnuf'kyrk

(B) ueqU;kP;k vkdkjckcr vlaosnu'khyrk

(C) 'kD;rsckcrph Hkzked dYiuk

(D) 'kks/k lapkph ifj.kkedkjdrk

37. [kkyhyiSdh dks.krs@dks.krh v/kZÁ{k si.k

ekiu@ekius vkgsr \

(1) jkslsfUox fiDpj ›LVs™'ku LVMh

(2) jks'kkZ bad CykWV VsLV

(3) fFkeWVhd vilsZI'ku VsLV

(4) lWDl lsUVsUl daIyh'ku VsLV

(A) (1) vkf.k (4)

(B) (1) vkf.k (3)

(C) (1), (2) vkf.k (4)

(D) (1), (3) vkf.k (4)

38. dks.krh var%Úkoh xzaFkh psrklaLFksyk var%Úkoh
laLFks'kh v/k'psrk{ksidk}kjs tksMrs \

(A) voVq xzaFkh

(B) vf/ko`Dd xzaFkh

(C) ikbZuh xzaFkh

(D) ih;wf"kdk xzaFkh
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39. Match List I with List II and select

the correct answer by using the

codes given below :

   List I   List II

(Attitude Scaling   (Feature)

  Technique)

(P) Equal appearing (1) Checks unidi-

intervals mensionality of

the scale

(Q) Paired comparison (2) Suitable for

scaling small

number of items

(R) Scalogram (3) Can assess

multidimensional

attitudes

(S) Summated ratings (4) Suitable for

scaling large

number of items

Codes :

(P) (Q) (R) (S)

(A) (1) (4) (3) (2)

(B) (3) (1) (2) (4)

(C) (3) (4) (2) (1)

(D) (4) (2) (1) (3)

40. Individual uses quantifiers in

solving syllogistic reasoning

problem is an example of :

(A) Atmospheric error

(B) Conversion error

(C) Semantic error

(D) Belief Bias

39. ;knh I o ;knh II ;kaP;k tksMÓk ykowu [kkyh
fnysY;k ladsrlwph e/kwu ;ksX; mŸkj fuoMk %

   ;knh I  ;knh II

(vfHko`Ÿkh ekiu ra=)    (oSf'k"VÓ)

(P) le varjky iºrh (1) ekiuhp s ,d&

vk;keRo riklrs

(Q) ;qXe&rqyuk iºrh (2) deh pkp.kh&

fo/kkukaP;k ekiuh&

dj.kklkBh ;ksX;

(R) LdsyksxzWe (3) cgq&vk;keh vfHk&

o`Ÿkh ap s ewY;k adu

d: 'kdrs

(Q) lekdfyr infu'p;u (4) vf/kd pkp.kh&

fo/kkukaP;k ekiuh&

dj.kklkBh ;ksX;

ladsrlwph %

(P) (Q) (R (S)

(A) (1) (4) (3) (2)

(B) (3) (1) (2) (4)

(C) (3) (4) (2) (1)

(D) (4) (2) (1) (3)

40. laokD; rdkZP;k leL;k lksMforkuk O;Drh
ekidkapk (DokaVhQk;j) mi;ksx djrkr gs
iq<hyiSdh d'kkps mnkgj.k vkgs \

(A) okrkoj.kh; izekn

(B) :ikarj.k izekn

(C) vFkZij izekn

(D) fo'okl vfHkurh
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Question Nos. 41 to 46 :

Each of the following six questions

consists of two statements : One

labelled as Assertion (A), and the

other labelled as Reason (R). You

have to examine these two

statements carefully and decide if

the Assertion (A) and the Reason (R)

are individually true, and if so

whether the Reason is a correct

explanation of the Assertion. Select

your answers to the following six

questions using the codes given

below  and mark your answers on

the answer sheet accordingly.

Codes :

(A) Both Assertion and Reason are

true and Reason is the correct

explanation of Assertion.

(B) Both Assertion and Reason are

true but Reason is not the

correct explanation of Assertion

(C) Assertion is true but Reason is

false.

(D) Assertion is false but Reason is

true.

41. Assertion (A) : Persons with high

need for achievement prefer to take

moderate risks as a result of skill and

not chance.

Reason (R) : Persons with high

need for achievement have strong

fear of failure.

iz'u ÿ- 41 r s 46 :

[kkyhy lgk iz'ukiSdh izR;sdkr nksu fo/kkus
vkgsr- ,dkyk izfriknu (A) vkf.k nqlÚ;kyk
dkj.k (R) vls uko fnys vkgs- rqEgkyk rh
nksUgh fo/kkus dkˇthiwoZd riklk;ph vkgsr
o vls Bjok;ps vkgs dh izfriknu vkf.k dkj.k
Lora=i.ks [kjs vkgsr dk] o tj rls vlsy
rj dkj.k gs izfriknukps ;ksX; Li"Vhdj.k vkgs
dk- [kkyhy lgk iz'ukaph mŸkjs [kkyh fnysY;k
ladsrkuqlkj fuoMk vkf.k R;kizek.ks rqeP;k
mŸkjif=dsoj [kw.k djk-

ladsr %

(A) izfriknu vkf.k dkj.k nksUgh [kjs vkgsr
o dkj.k gs izfriknukps ;ksX; Li"Vhdj.k
vkgs-

(B) izfriknu vkf.k dkj.k nksUgh [kjs vkgsr
i.k dkj.k g s i z friknukp s ;k s X;
Li"Vhdj.k ukgh-

(C) izfriknu [kjs vkgs i.k dkj.k [kksVs
vkgs-

(D) izfriknu [kksVs vkgs i.k dkj.k [kjs
vkgs-

41. izfriknu (A) % mPp laiknu izsj.kk vlysY;k
O;Drh dkS'kY;k/kkfjr] dsoy ;ksxk;ksxkoj
voyacwu ulysyh e/;e Lo:ikph tks[khe
?ksrkr-

dkj.k  (R) % mPp laiknu izsj.kk vlysY;k
O;Drhauk vi;'kkph rhoz Hkhrh vlrs-
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42. Assertion (A) : If a personality

psychologist wants to carry out

second-order factor analysis, first-

order factors should not be subjected

to varimax rotation.

Reason (R) : Varimax rotation

provides orthogonal factors.

43. Assertion (A) : Greater the number

of people present at emergency, it

is less likely that individual acts.

Reason (R) : Empathy-altruism

hypothesis proposes that more

number of bystanders creates

failure in the perception of

emergency.

44. Assertion (A) : Research has shown

that instructions inducing low

motivation are detrimental for high

anxious students.

Reason (R) : Best motivating

condition for high anxious students

is where no reference is made to

success.

45. Assertion (A) : Shaping is used

when behaviour is complex.

Reason (R) : Learning process in

operant conditioning may be

shortened if approximation of the

desired behaviour is rewarded.

42. izfriknu (A) % tj O;fDreRo

ekul'kkL=Kkyk f}rh;&Js.kh ?kVd fo'ys"k.k

djko;kps vlsy] rj izFke Js.kh ?kVdkaps

OgWjheWDl pÿkorZu d: u;s-

dkj.k  (R) % OgWjheWDl pÿkorZu dkVdksuh

?kVd nsrs-

43. izfriknu (A) % vkiRdkyh yksdkaph la[;k

ok<rs r'kh O;Drhus œrh dj.;kph 'kD;rk

deh gksrs

dkj.k  (R) % rnkuqHk wrh&ijfgro`Ÿkh

miiŸkhuqlkj ftrds tkLr yksd mifLFkr

vlrhy frrds vkiŸkhps laosnu vlQy gksrs

44. izfriknu (A) % la'kks/kukus vls nk[kowu fnys

vkgs dh deh izfrP;k izsj.kkaizr us.kkÚ;k lwpuk

vfr'k; fparkeXu fo|kF;k±uk gkfudkjd Bjrkr-

dkj.k  (R) % vfr'k; fparkeXu fo|kF;k±lkBh

izsjhr dj.kkjh loksZŸke ifjfLFkrh Eg.kts tsFks

;'kkfo"k;h dks.krkgh lanHkZ ;sr ukgh-

45. izfriknu (A) %  tsaOgk orZu ladh.kZ vlrs
rsaOgk 'ksfiax okijys tkrs-

dkj.k  (R) % O;kikjd vfHkla/kkukrhy
v/;;ukph izfÿ;k tyn gksrs tj bZfPNr
orZukP;k toˇtoˇ cjkscj orZukyk ikfjrksf"kd
fnys tkbZy-
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46. Assertion (A) : Osmometric thirst

is a function of a drop in the
intercellular fluid.

Reason (R) : It is well-known that
thirst is caused by a drop in the blood
plasma.

47. Observational learning :

(1) eliminates trial and error
learning.

(2) takes less time than operant
conditioning.

(3) includes modelling.

(4) gives results equivalent to
learning by insight.

(A) (1), (2) and (4)

(B) (2), (3) and (4)

(C) (1), (2) and (3)

(D) (1), (3) and (4)

48. Which of the following is true in case
of D-needs and B-needs in Maslow’s
hierarchy of needs ?

(1) D-needs can be fulfilled by
eliminating the deficiency

(2) Beauty, truth, goodness,
simplicity, etc. are B-needs

(3) D-needs are at times existential
and spiritual

(4) Esteem needs and self-
actualization are B-needs in the
hierarchy

(A) (1) and (4) only

(B) (1) and (2) only

(C) (1), (2) and (4) only

(D) (2), (3) and (4) only

46. izfriknu (A) % ijklj.kh; rgku gh

var%dks'khdk Êokrhy ?kV >kY;keq š ykxrs-

dkj.k  (R) % gs tkr vkgs dh rgku gh

CyM Iyk÷eke/;s ?kV >kY;keq š ykxrs-

47. fujh{k.kkRed v/;;u %

(1) iz;Ru izeknkus gks.kkjs v/;;u u"V djrs-

(2) O;kikjd vfHkla/kkukis{kk deh oš kr gksrs-

(3) izfr:i vuqlkj.kkpk varHkkZo djrs-

(4) eeZn`"Vh v/;;ukP;k cjkscjhps ifj.kke
fufeZrs-

(A) (1), (2) vkf.k (4)

(B) (2), (3) vkf.k (4)

(C) (1), (2) vkf.k (3)

(D) (1), (3) vkf.k (4)

48. eWLyksP;k xjtkaP;k vf/kJs.khuqlkj ^^Mh** xjtk
o ^^ch** xjtk ;kaP;kckcrhr [kkyhyiSdh
dks.krs cjkscj vkgs \

(1) derjrk Hk:u dk<Y;kus Mh&xjtk iw.kZ
gksrkr

(2) lkSan;Z] lR;] pkaxysi.kk] lk/ksi.kk] b- ;k
ch&xjtk vkgsr

(3) Mh&xjtk ;k dkgh oš k vfLrRooknh
vkf.k vk/;kfRed vlrkr

(4) vknj xjt vkf.k vkReokLrfodhdj.k
;k vf/kJs.khe/;s ch&xjtk vkgsr

(A) (1) vkf.k (4) QDr

(B) (1) vkf.k (2) QDr

(C) (1), (2) vkf.k (4) QDr

(D) (2), (3) vkf.k (4) QDr
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49. The research findings indicate that

job satisfaction and performance

usually have :

(A) no correlation

(B) weak negative correlation

(C) weak positive correlation

(D) strong positive correlation

50. Which of the following is correct

regarding emotional intelligence ?

(1) MSCEIT is based on trait model

of EI.

(2) Perceive, use, understand and

manage emotions are aspects of

ability model.

(3) Trait model of EI generally

employ self-report EI measures

(4) Self-motivation, self-awareness,

change management are

aspects of trait model of EI.

(A) (1) and (3) only

(B) (1) and (4) only

(C) (2) and (3) only

(D) (2), (3) and (4) only

49. la'kks/ku vls n'kZfors dh dk;Z&lek/kku vkf.k

fuoZrZu ;kaP;kr %

(A) lglaca/k ukgh

(B) FkksMklk Ω.kkRed lglaca/k vkgs

(C) FkksMklk /kukRed lglaca/k vkgs

(D) Hkjiwj /kukRed lglaca/k vkgs

50. [kkyhyiSdh dks.krs Hkkofud cqfºeŸkscÌy
cjkscj vkgs \

(1) MSCEIT gh Hkkouhd cqfºeŸksP;k xq.k

flºkarkoj vk/kkfjr vkgs

(2) Hkkoukps laosnu gks.ks] okij.ks] vkdyu

dj.ks vkf.k O;oLFkkiu dj.ks gs {kerk

flºkarkps Hkkx vkgsr

(3) Hkkofud cqfºeŸksP;k xq.k flºkarkr

lk/kkj.ki.ks Loo`Ÿk ekius okijrkr

(4) Loizsj.kk] LoHkku] cny O;oLFkkiu gs xq.k

flºkarkps egRokps Hkkx vkgsr-

(A) (1) vkf.k (3) QDr

(B) (1) vkf.k (4) QDr

(C) (2) vkf.k (3) QDr

(D) (2), (3) vkf.k (4) QDr
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Question Nos. 51 to 55 :

Read the following paragraph and

answer the five questions which

follow :

An experiment was performed

varying ‘modality of presentation’

(A) at two levels and ‘retention

interval’ (B) at three levels and using

‘recall scores’ as the dependent

variable. Each cell contained

randomly assigned twelve subjects.

After the experiment was over, cell-

wise means and standard deviations

were obtained. The cell-wise

standard deviations were

approximately equal. The data were

analyzed by following suitable model

of ANOVA. One of the interesting

finding was that the F ratio,

computed as (MSA×B/MSE) was

significant at .01 level.

51. How many subjects were employed

in the above experiment ?

(A) 24

(B) 36

(C) 60

(D) 72

iz'u ÿ- 51 rs 55 :

[kkyhy ifjPNsn okpk o R;klacaf/kr ikp

iz'ukaph mŸkjs |k %

,dk iz;ksxkr ^izLrqrhps osnuek/;e* (A) ;kyk

nksu ikrˇhoj o ^/kkj.kk&dky* (B) ;kyk rhu

ikrˇhoj gkrkˇ.;kr vkys- ^izR;kokgu izkIrkad

gs vkfJr ifjoR;Z gksrs- izR;sd lsy (cell)

e/;s vfu;frœr fjR;k fnysys ckjk iz;qDr gksrs-

iz;ksx >kY;kuarj izR;sd lsyps e/; (mean)

o izek.k fopyu dk<.;kr vkys- loZ lsYlps

izek.k fopyu toˇtoˇ lkj[ks gksrs- iznŸkkaps

fo'ys"k.k izpj.k fo'ys"k.kkps ;ksX; izk:i

oki:u dj.;kr vkys- ;ki Sdh ,d

y{kos/kd Qfyr Eg.kts (MSA×B/MSE)  ;k

lw=kus dk<ysys F xq.kksŸkj .01 ikrˇhoj y{k.kh;

gksrs-

51. ojhy iz;ksxkr fdrh iz;qDr okij.;kr vkys\

(A) 24

(B) 36

(C) 60

(D) 72
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52. Which one of the following

statements appears to be correct for

the above experimental data ?

(A) The assumption of homogeneity

of variance is violated

(B) The assumption of homogeneity

of variance is satisfied

(C) No data are provided about the

assumption of homogeneity of

variance

(D) Means and variances are

proportional

53. What would be the degrees of

freedom associated with the main

effect of retention interval ?

(A) 2

(B) 3

(C) 5

(D) 6

52. ojhy izk;ksfxd iznŸkkaP;k lanHkkZr iq<hyiSdh

dks.krs fo/kku cjkscj vkgs \

(A) izpj.kkP;k ,dftulhi.kk cÌyP;k

x`fgrdkps mYya?ku gksrs

(B) izpj.kkP;k ,dftulhi.kk cÌyP;k

x`fgrdkps lek/kku gksrs

(C) izpj.kkP;k ,dftulhi.kk cÌyP;k

x`fgrdkP;k lanHkkZr iznŸk fnysys ukghr

(D) e/; vkf.k izpj.k izek.kkr vkgsr

53. /kkj.kk&dkykP;k izeq[k ifj.kkek'kh lacaf/kr

eqfDr&izek.kla[;k fdrh vkgsr \

(A) 2

(B) 3

(C) 5

(D) 6
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54. Which of the following conclusion/s

can be drawn from the above

data ?

(1) Main effect of modality of

presentation is significant.

(2) Main effect of retention interval

is significant.

(3) The interaction effect is

significant

(4) Neither the main effect nor

interaction effect is significant

(A) (3) only

(B) (4) only

(C) (1) and (2) only

(D) (1), (2) and (3) only

55. Which of the following statement/s

is/are correct about the experimental

design employed in the above study ?

(1) It is an imbalanced factorial

design

(2) It is a balanced factorial design

(3) It is 2×3 factorial design

(4) It is a between-groups design

(A) 3 only

(B) (1) and (3) only

(C) (3) and (4) only

(D) (2), (3) and (4) only

54. ojhy iznŸkko:u iq<hyiSdh dks.krs vuqeku
dk<rk ;sbZy \

(1) izLrqrhP;k osnuek/;ekpk izeq[k ifj.kke

y{k.kh; vkgs-

(2) /kkj.kkdkykpk izeq[k ifj.kke y{k.kh;
vkgs-

(3) var£ÿ;k ifj.k ke y{k.kh;
vkgs-

(4) izeq[k ifj.kke fdaok varfÿZ;k ifj.kke]

dkghgh y{k.kh; ukgh-

(A) (3) QDr

(B) (4) QDr

(C) (1) vkf.k (2) QDr

(D) (1), (2) vkf.k (3) QDr

55. ojhy v/;;ukr okij.;kr vkysY;k izk;ksfxd
vk[k.khfo"k;h dks.krs@dks.krh fo/kku@fo/kkus
cjkscj vkgs@vkgsr \

(1) gh ,d vlarqfyr ?kVdkuqlkjh vk[k.kh
vkgs

(2) gh ,d larqfyr ?kVdkuqlkjh vk[k.kh vkgs

(3) gh ,d 2×3 ?kVdkuqlkjh vk[k.kh vkgs

(4) gh ,d ^fcV~ohu&xzqIl* (between-

groups) vk[k.kh vkgs-

(A) 3 QDr

(B) (1) vkf.k (3) QDr

(C) (3) vkf.k (4) QDr

(D) (2), (3) vkf.k (4) QDr
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56. Which theory implies that people

can change their emotions simply by

changing the way they label their

arousal ?

(A) James-Lange theory

(B) Cannon-Bard theory

(C) Opponent-Process theory

(D) Schachter’s two-factor theory

57. Cultural differences in perception

are associated with :

(1) biological factors

(2) environmental factors

(3) socialization practices

(A) (1)  and (3)

(B) (2) and (3)

(C) (1), (2) and (3)

(D) Only (3)

58. Wason Selection Task of conditional

reasoning involves condition ‘if P

then Q’. The correct answer for it

is :

(A) P and Q

(B) P and not Q

(C) Not P and Q

(D) Not P and not Q

56. yksd vkiY;k tkxj.kkps (arousal)

vFkZ&fooj.k cnywu vkiY;k Hkkouk cnyw

'kdrkr] gs dks.kR;k miiŸkh}kjs lwfpr gksrs \

(A) tsEl&y°xph miiŸkh

(B) dWuu&ckMZph miiŸkh

(C) fojks/kh izfÿ;k miiŸkh

(D) 'kWDVjph f}?kVd miiŸkh

57. laosnukrhy lkaLœfrd Qjd ;kP;k'kh fuxMhr
vlrkr %

(1) tho'kkL=h; ?kVd

(2) ifjfLFkrhtU; ?kVd

(3) lkekftdhdj.kkP;k iºrh

(A) (1) vkf.k (3)

(B) (2) vkf.k (3)

(C) (1), (2) vkf.k (3)

(D) QDr (3)

58. voyach rdkZP;k oWlu fuoM dk;kZe/;s ^tj

ih rj D;w* v'kh vV vlrs- ;klkBhps cjkscj

mŸkj vkgs %

(A) ih vkf.k D;w

(B) ih vkf.k ukWV D;w

(C) ukWV ih vkf.k D;w

(D) ukWV ih vkf.k ukWV D;w
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59. When a manager/supervisor is

considering effort and motivation

while evaluating job performance,

he/she is most likely relying on :

(A) attributional processes

(B) expectancies

(C) halo effects

(D) impression management

60. A social worker, with a qualification

of Master of Social Work (MSW) who

was appointed as an assistant to a

psychiatrist, used to administer and

interpret Rorschach test. This is

an :

(A) Ethically incorrect practice

(B) Ethically correct practice

(C) Ethically correct practice

provided the results are kept

confidential

(D) Ethically correct practice

provided the results are used

only for diagnostic purpose.

59. tsaOgk O;oLFkkid@i;Zos{kd gk@gh dk;Z&

fuoZrZukps eqY;ekiu djrkuk iz;Ru vkf.k izsj.kk

;kauk fopkjkr ?ksrks rsaOgk rks@rh cgw/kk ;kP;koj

vk/kkjhr jkgrks@jkgrs %

(A) xq.kkjksi.k izfÿ;k

(B) vkis{kkoLFkk

(C) oy; izHkko

(D) LoizHkkokps O;oLFkkiu

60. ekLVj vkWQ lks'ky odZ (MSW) v'kh ik=rk
vlysY;k ,dk lks'ky odZjph ,dk euksfoœfr

fpfdRldkpk lgk∏;d Eg.kwu fu;qDrh >kyh-

rks jks'kkZ pkp.kh nsr vls o R;kps vFkZ&fooj.k

djr vls- gh ,d %

(A) uSfrdn`"VÓk pqdhph iºr vkgs

(B) uSfrdn`"VÓk cjkscj iºr vkgs

(C) Qfyrs tksi;±r xksiuh; Bso.;kr ;srkr]

rksi;±r] uSfrdn`"VÓk cjkscj iºr vkgs

(D) Qfyrk apk mi;k sx dsoy uSnkfud

dk;k ZlkBh dj.;kr ;srk s ] rk si;±r

uSfrdn`"VÓk cjkscj iºr vkgs
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61. In probability learning :

(A) recency effect is seen

(B) negative recency effect is seen

(C) primacy effect is seen

(D) negative primacy effect is seen

62. Which is the correct sequence to

sleep related aspects listed below ?

(A) Increased cortisol — NREM

sleep—REM sleep — awakening

— high melatonin

(B) High melatonin — REM sleep

— NREM sleep — awakening

—increased cortisol

(C) NREM sleep — increased cortisol

— REM sleep — awakening —

high melatonin

(D) High melatonin — NREM sleep

— REM sleep — awakening —

increased cortisol

61. laHkkO;rk v/;;ukr %

(A) lfÈk/kdkyhurk ifj.kke fnlwu ;srks

(B) udkjkRed lfUu/kdkyhurk ifj.kke fnlwu

;srks

(C) izkFkE;rk ifj.kke fnlwu ;srks

(D) udkjkRed izkFkE;rk ifj.kke fnlwu ;srks

62. >ksis'kh laca/khr [kkyhy ?kVdkapk ;ksX; ÿe

dks.krk \

(A) dkWVhZlkWye/;s ok< µ fLFkj us= fuÊk

µ tyn us=py fuÊk µ tkxs gks.ks µ

esyWVksuhue/;s ok<

(B) esyWVksuhue/;s ok< µ tyn us=py fuÊk

µ fLFkj us= fuÊk µ tkxs gks.ks µ

dkWVhZlkWye/;s ok<

(C) fLFkj us= fuÊk µ dkWVhZlkWye/;s ok<

µ tyn us=py fuÊk µ tkxs gks.ks µ

esyWVksfuue/;s ok<

(D) esyWVksfuue/;s ok< µ fLFkj us= fuÊk µ

tyn us=py fuÊk µ tkxs gks.ks µ

dkWVhZlkWye/;s ok<
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63. The theory of intelligence that

explains three stratum of

intelligence that include general

intelligence (g) at stratum three is

proposed by :

(A) Spearman

(B) Carroll

(C) Sternberg

(D) Guilford

64. Match List I with List II and select

the correct answer from the codes

given below :

List I List II

(Psychologist)       (Personality Measure)

(P) Guilford, J.P. (1) California Psycho-

logical Inventory

(Q) Saucier, G. (2) Index of Personality

Styles

(R) Gough, H. (3) T e m p e r a m e n t

Survey

(S) Millon, T. (4) Adjective Check

List

Codes :

(P) (Q) (R) (S)

(A) (1) (4) (3) (2)

(B) (2) (3) (1) (4)

(C) (3) (4) (1) (2)

(D) (3) (4) (2) (1)

63. cqn~/kheŸkspk fln~/kkar T;kr cqn~/kheŸksps rhu Lrj
Li"V dsys vkgsr o T;kr frlÚ;k Lrjkoj
lkekU; cqn~/kheŸkk (th) vkgs] rks dks.kh fnyk
vkgs %

(A) Lihvjeu

(B) dWjksy

(C) LVuZcxZ

(D) fxyQksMZ

64. ;knh I o ;knh II ;kaP;k tksMÓk ykowu [kkyh
fnysY;k ladsrlwph e/kwu ;ksX; mŸkj fuoMk %

  ;knh I         ;knh I

(ekul'kkL=K)       (O;fDreRo ekius)

(P) fxyQksMZ] ts-ih- (1) dWfyQksfu Z;k lk;&

dkWykWftdy bUOgsUV™h

(Q) lkmflvj] th- (2) baMsDl vkWQ ilZuWfyVh

LVkby

(R) xksg] ,p~- (3) VsEijkesaV lOgsZ

(S) feykWu] Vh (4) vWMtsDVhOg psd fyLV

ladsrlwph %

(P) (Q) (R) (S)

(A) (1) (4) (3) (2)

(B) (2) (3) (1) (4)

(C) (3) (4) (1) (2)

(D) (3) (4) (2) (1)

http://www.studentbounty.com/
http://studentbounty.com/


30

FEB–13313/III

65. Match List I with List II and select

the correct answer from the codes

given below :

   List I  List II

(Bias in Social (Description)

   Cognition)

(P) Planning fallacy (1) Assess events

by thinking

about options

(Q) Automatic (2) Belief that

vigilance cannot stand

factual scrutiny

(R) Counterfactual (3) Optimistic bias

thinking for task com-

pletion

(S) Magical Thinking (4) Tendency to

attend negative

stimulus

(5) A belief that

magic happen

in reality

Codes :

(P) (Q) (R) (S)

(A) (3) (4) (2) (5)

(B) (2) (3) (1) (4)

(C) (4) (2) (3) (5)

(D) (3) (4) (1) (2)

65. ;knh I o ;knh II ;kaP;k tksMÓk ykowu [kkyh
fnysY;k ladsrlwph e/kwu ;ksX; mŸkj fuoMk %

   ;knh I       ;knh II

(lekftd cks/kukrhy vfHkurh)         (o.kZu)

(P) fu;kstu rdZnks"k (1) ?kVukaps ewY;ekiu

i;kZ;kapk fopkj d:u

dj.ks

(Q) ;a=or tkx:drk (2) rF;k/kkfjr fo'ys"k.kkr

u fVd.kkjs fo'okl

(R) izrh rF; fopkj (3) dk;Z iqrZrsckcrph

vk'kkoknh vfHkurh

(S) tknqbZ fopkj (4) Ω.kkRed mÌhidk&

dMs vo/kku ns.;kph

o`Ÿkh

(5) tknw okLrokr ?kMw

'kdrs vlk fo'okl

ladsrlwph %

(P) (Q) (R) (S)

(A) (3) (4) (2) (5)

(B) (2) (3) (1) (4)

(C) (4) (2) (3) (5)

(D) (3) (4) (1) (2)
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66. Which of the following is true in case

of self-esteem ?

(1) It is an overall evaluation/

appraisal of self-worth

(2) Self-competence has been

considered as an aspect of self-

esteem

(3) Self-report measures are less

popular than projective

measures of self-esteem

(4) Factor analysis is not applicable

to understand self-esteem

(A) (1) and (2) only

(B) (1), (2) and (4) only

(C) (1), (3) and (4) only

(D) (2), (3) and (4) only

66. [kkyhyiSdh dks.krs Lo&vknjHkkokcÌy [kjs
vkgs \

(1) gs Lo&ewY;kps loZlk/kkj.k eqY;ekiu@

fu/kkZj.k vlrs

(2) Lo{kerk gh Lo&vknjHkkokpk ,d Hkkx

vkgs

(3) Lo&vknjHkkokph Lo&o`Ÿk ekius gh

iz{ksi.k ekiukagwu deh yksdfiz; vkgsr

(4) Lo&vknjHkkokP;k vkdyuklkBh ?kVd

fo'ys"k.kkps mi;kstu 'kD; ukgh

(A) (1) vkf.k (2) QDr

(B) (1), (2) vkf.k (4) QDr

(C) (1), (3) vkf.k (4) QDr

(D) (2), (3) vkf.k (4) QDr
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67. Which of the following are correct

descriptions of scoring of response on

creativity test ?

(1) Response scored for showing

shift in thinking

(2) Response scored for fluency but

not originality

(3) Response scored for originality

but not fluency

(4) Response scored for statistically

rarity of response

(A) (3) only

(B) (1) and (2) only

(C) (1), (2) and (4) only

(D) (1), (3) and (4) only

68. Teacher-student relationships are

associated with which of the

following behaviour patterns of the

students ?

(1) Academic achievement

(2) Conformity behaviour

(3) Rewarding behaviour

(4) Curiosity

(A) (1), (2) and (3)

(B) (1), (3) and (4)

(C) (2), (3) and (4)

(D) (1), (3) and (4)

67. ltZu'khyrsP;k pkp.khojhy vuqfÿ;sP;k
xq.kk adukph [kkyhyiSdh dks.krs@dks.krh
o.kZu@o.kZus cjkscj vkgsr \

(1) vuqfÿ;sps xq.kkadu fopkjizfÿ;sr fnysY;k
cnykckcr dj.ks

(2) vuqfÿ;sps xq.kk adu izokghRokckcr
(∂yw,Ulh) dj.ks i.k ukfoU;kckcr
(vksjksthuWfyVh) u dj.ks

(3) vuqfÿ;sp s x q.kk adu ukfoU;kckcr
(vksjksftuWfyVh) dj.ks i.k izokghRokckcr
(∂yw,Ulh) u dj.ks

(4) vuqfÿ;sp s x q.k k adu vuqfÿ;sP;k
lka[;fd; nqfeZˇrsckcr dj.ks

(A) (3) QDr

(B) (1) vkf.k (2) QDr

(C) (1), (2) vkf.k (4) QDr

(D) (1), (3) vkf.k (4) QDr

68. v/;kid&fo|kFkhZ ;kaP;krhy laca/k fo|kF;kZP;k
[kkyhyiSdh dks.kR;k orZu izdkjka'kh lacaf/kr
vlrkr \

(1) 'kS{kf.kd laiknu

(2) vuqlkfjrk orZu

(3) ikfjrksf"kd ns.kkjs orZu

(4) ftKklk

(A) (1), (2) vkf.k (3)

(B) (1), (3) vkf.k (4)

(C) (2), (3) vkf.k (4)

(D) (1), (3) vkf.k (4)
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69. Match List I with List II and select
the correct answer from the codes
given below :

  List I  List II

(Sleep Disorder) (Description)

(P) Primary (1) Walking   for

Insomnia several minutes

during sleep

without remem-

bering it next day.

(Q) Somnambulism (2) Sudden arousal

from deep sleep

with a scream or

cry with intense

fear.

(R) Narcolepsy (3) Difficulty in

initiating/main-

taining  sleep not

accounted for

physical, mental

disorders

(S) Sleep terror (4) Irresistible attack

of refreshing sleep

and inability to

control sleep and

wakefulness.

(5) Difficulty in

initiating/main-

taining sleep and

sudden scaring

arousal from deep

sleep not because

of other disorders

Codes :

(P) (Q) (R) (S)

(A) (3) (1) (4) (2)

(B) (5) (4) (2) (1)

(C) (3) (1) (4) (5)

(D) (5) (4) (2) (3)

69. ;knh I o ;knh II ;kaP;k tksMÓk ykowu [kkyh
fnysY;k ladsrlwph e/kwu ;ksX; mŸkj fuoMk %

   ;knh I         ;knh II

(>ksisP;k foœrh)   (o.kZu)

(P) izkFkfed fuÊkuk'k (1) >ksise/;s vusd feuhVs

pky.ks o nqlÚ;k fno'kh

rs u vkBo.ks

(Q) fuÊkpjRo (2) fLFkj u s= fuÊ sr wu

vksjMwu mB.ks fdaok

?kkc:u jM.ks

(R) vfrfuÊklDrh (3) >k si ykx.k s@fVd.k s

;kckcrpk =kl tks brj

'kkjhfjd] ekufld

foœrheqˇs ukgh

(S) fuÊk/kkLrh (4) rkt sroku s dj.kkjk

>ksispk >Vdk o >ksi

o tkxsi.kkoj fu;a=.k

u jkg.ks

(5) >k si ykx.k s@fVd.k s

;kckcrpk =kl vkf.k

fLFkj u s= fuÊ sr wu

?kkc:u mB.ks ts brj

foœrhaeq š ukgh

ladsrlwph %

(P) (Q) (R) (S)

(A) (3) (1) (4) (2)

(B) (5) (4) (2) (1)

(C) (3) (1) (4) (5)

(D) (5) (4) (2) (3)
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70. Praise is ineffective when it is used
to :

(1) Foster warmth among students

(2) Control behaviour of students

(3) Compensate the reproof

(4) Encourage students to enhance
enjoyment in task

(A) (2), (3), (4)

(B) (1), (2), (3)

(C) (1), (3), (4)

(D) (1), (2), (4)

71. Match List I with List II and select
the correct answer by using the
codes given below :

  List I  List II

(Behavioural (Resulting

Technique) Application)

(P) Punishment (1) Leads to more

generalization

(Q) Reward (2) Easiest behaviour

change technique

(R) Omission (3) Reinforcement after

termination of

activity

(S) Avoidance (4) Postpone contact

with aversive

stimuli

Codes :

(P) (Q) (R) (S)

(A) (3) (2) (4) (1)

(B) (2) (1) (3) (4)

(C) (4) (3) (1) (2)

(D) (1) (4) (2) (3)

70. tsaOgk iz'kalk [kkyhy dkj.kkauh dsyh tkrs rsaOgk
rh ifj.kkedkjd ulrs %
(1) fo|kF;k±e/;s Hkkofud mc ok<fo.;klkBh
(2) fo|kF;k±ps orZu fu;af=r dj.;klkBh
(3) Vhdsph HkjikbZ Eg.kwu
(4) dkekrhy etk ok<fo.;klkBh fo|kF;k±uk

mŸkstu ns.;klkBh
(A) (2), (3), (4)

(B) (1), (2), (3)

(C) (1), (3), (4)

(D) (1), (2), (4)

71. ;knh I o ;knh II ;ke/khy ;ksX; tksMÓk ykowu
[kkyh fnysY;k ladsrlwph e/kwu ;ksX; mŸkj
fuoMk %

   ;knh I       ;knh II

(orZufo"k;d ra=) (mi;kstr Qyhr)

(P) f'k{kk (1) vf/kd lkekU;h&
dj.k gksrs

(Q) cf{kl (2) orZu cnykps lokZr
lksis ra=

(R) oxˇ.ks (3) fÿ;k Fkk acoY;koj
fnysys izcyu

(S) Vkˇ.ks (4) ijko `Ÿ k dj.kkÚ;k
mÌhidk'kh laca/k iq<s
<dy.ks

ladsrlwph %

(P) (Q) (R) (S)

(A) (3) (2) (4) (1)

(B) (2) (1) (3) (4)

(C) (4) (3) (1) (2)

(D) (1) (4) (2) (3)
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72. Which of the following is/are

characteristic/s of evolutionary social

psychology ?

(1) It rests upon natural selection

theory

(2) Charles Darwin is pioneer of

evolutionary social psychology

(3) It uses Hamilton’s inclusive

fitness theory

(4) Experimental methods cannot

be used to test evolutionary

hypothesis

(A) (1) only

(B) (1) and (2) only

(C) (1) and (3) only

(D) (2) and (4) only

72. [kkyhyiSdh dks.krh@dks.krs mRÿkarhoknh

lkekftd ekul'kkL=kps@ekul'kkL=kph

xq.koSf'k"VÓs vkgsr \

(1) rs uSlfxZd fuoM flºkarkoj vk/kkfjr

vkgs

(2) mRÿkarhoknh lkekftd ekul'kkL=kpk

iz.ksrk gk pkYlZ MkfoZu vkgs

(3) rs gWfeYVuP;k lekos'kh fQVusl

flºkarkpk okij djrs

(4) mŸÿkarhoknh miiŸkh rikl.;klkBh

izk;k sfxd iºrhapk mi;k sx gk sr

ukgh

(A) (1) QDr

(B) (1) vkf.k (2) QDr

(C) (1) vkf.k (3) QDr

(D) (2) vkf.k (4) QDr
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73. Which of the following is/are the

process theories of work motivation ?

(1) Herzberg’s two-factor theory of

work motivation

(2) Maslow’s theory of need

hierarchy

(3) Porter-Lawler’s performance

satisfaction theory

(4) Vroom’s expectancy theory

(A) (4) only

(B) (2) and (4) only

(C) (3) and (4) only

(D) (2), (3) and (4) only

74. In the context of stress response,

which one of the following sequences

is correct ?

(A) ACTH →  pituitary 

→

 adrenal

cortex →  corticoids →  general

resistance

(B) Pituitary 

→

 adrenal medulla

→  corticoids →  ACTH 

→

general resistance

(C) ACTH 

→

 pituitary 

→

corticoids 

→

 adrenal medulla

→  general resistance

(D) Pituitary →  ACTH 

→

adrenal

cortex →  corticoids →  general

resistance

73. iq<hyiSdh dks.krh@dks.kR;k dk;Z&izsj.ksph@P;k

izfÿ;k miiŸkh vkgs@vkgsr \

(1) g>ZcxZph dk;Zizsj.ksph f}?kVd miiŸkh

(2) eWLyksph xjt vf/kJs.kh miiŸkh

(3) iksVZj&ykyjph fuoZrZu&lek/kku miiŸkh

(4) Og~:eph vis{kkoLFkk miiŸkh

(A) (4) QDr

(B) (2) vkf.k (4) QDr

(C) (3) vkf.k (4) QDr

(D) (2), (3) vkf.k (4) QDr

74. rk.k izfrfÿ;sr] iq<hyiSdh dks.krk ÿe cjkscj
vkgs \

(A) ,-lh-Vh-,p- →  fi;qf"kdk 

→

vf/kòDd ckgÓd  →  dkWfVZdkWbM~l
→  lkekU; izfrjks/k

(B) fi;qf"kdk →  vf/kòDd e/;kax →

dkWfVZdkWbM~l 

→

 ,-lh-Vh-,p- 

→

lkekU; izfrjks/k

(C) ,-lh-Vh-,p- 

→

 fi;qf"kdk 

→

dkWfVZdkWbM~l 

→

 vf/ko`Dd e/;kax 

→

lkekU; izfrjks/k

(D) fi;qf"kdk →  ,-lh-Vh-,p- →

vf/ko`Dd ckgÓd →  dkWfVZdkWbM~l →
lkekU; izfrjks/k
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75. Repisodic memory is :

(A) reappearance of episodic

memory which is very accurate

(B) inaccurate memorization of

events due to active reshaping

of memories

(C) combination of new and

old memories of similar

events

(D) immediate memory of

emotionally disturbing

events

75. jsfilksMhd Lej.k Eg.kts %

(A) ,filksMhd ok ?kVuk Le`rhps iqunZ'kZu ts

[kwip vpwd vlrs

(B) Lej.kkP;k lfÿ; iqu£uekZ.kkrwu pqdhps

Lej.k

(C) lkj[;k ?kVukaP;k uO;k o tqU;k Le`rhaps

feJ.k

(D) Hkkofudn`"VÓk fopyhr dj.kkÚ;k

rkRdkfyd Le`rh
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